Table S3: Significant correlation between landscape variables.
Radius = 500 m

Impervious surface Agricultural land Wooded area Open area

Connectivity of wooded area

Agricultural land -0.75

Wooded area -0.45 -

Open area - - -

Connectivity of wooded area - - 0.74 -

Connectivity of open area - - - -

Radius =1 000 m

Impervious surface Agricultural land Wooded area Open area

Connectivity of wooded area

Agricultural land -0.81

Wooded area -0.5 -

Open area - - -

Connectivity of wooded area - - 0.64 -

Connectivity of open area - - -

Radius =2 000 m

Impervious surface Agricultural land Wooded area Open area

Connectivity of wooded area

Agricultural land -0.82

Wooded area -0.47 -

Open area - - -

Connectivity of wooded area - - 0.5 -

Connectivity of open area - - - 0.71




